©

IN

ouT

Mount the terminal block on spare DIN rail space.

Use the terminal block to distribute the 24V supply.

This EtherCAT chassis uses fiber.

Mount the moudular couplers into the front panel.

Mount a fiber feedthrough adapter to the rear panel port 1.
Using LC-to-SC fiber patch cables:

- Connect the third coupler input and output (right rail) to rear panel slot 1 (SM).

Ports

- Connect the second coupler input/output (middle rail) to rear panel slot 3 (SM).

- Connect the EK1521 to the rear panel port 1 (MM).

PNI PN7 PNIT PNI7 PN22 Using CAT5 patch cables: ) ) )
EtherCAT chassis Modular coupler Modular coupler Fiber LC-LC coupler Adapter panel - Connect the front panel input to the input of the Ffirst coupler (left rail).
LIGO L-Com L-com LIGO H H H H
D0902552-v3 . . 11001081 - Connect the end extension (right rail) to the EL6692 input.
\ \ [ \ [ \ - Connect the EL6692 output to the rear panel port 1.
o E{\AS ¢ vatch cable. 1 E’t\#Z ¢ vatch cable. 3 FP:!\;lB | - - Connect the remote extension (left rail) to rear panel slot 1.
i iy s e s s s - Connect the second coupler input/output (middle rail) to slot 3.
LIGO 21M5658 21M5874 PN19
D1101833-v1 Fiber coupler panel adapter
LIGO
D1100095-v2
PN46 Terminal Block ~ PN52 Terminal Block
PN20 \ \ \ \ \ ) \ | )
Fiber patch cable, LC-SC PN24 PN29 PN34 IDC socket, 10pin PN47 Terminal Block  PN53 Terminal Block
L-Com Fiber patch cable, LC-SC D-Sub cable, DB, female \ | |
FODSC50-LC-01 \ | \ | PN35  IDC socket, 10pin PN48 Terminal Block  PN54 Terminal Block
PN25 PN30 \ | |
Fiber patch cable, LC-SC D-Sub cable, DB9, female PN36  IDC socket, 10pin PN49 Terminal Block ~ PN55 Terminal Block
L-Com Digi-Key \ | \ |
‘SFODSC-LC-Ol | ‘H7SXH-09066-ND | PN37 IDC socket, 10pin ‘PNSO Terminal B|O(‘)k ‘PN56 Terminal Bloc‘k
Digi-Key
PN26 PN31 MKC10A-ND Digi-Key
CAT5 CAT5 M M Fi ber B I an k Ethernet patch cable, 1' D-Sub cable, DB9, male 277-1483-ND
\ | \ | \ | PN57  Jumper, 10pos
End End End PN27 PN32 PN38
Ethernet patch cable, 3' D-Sub cable, DB9, male D-sub screw/retainer PN51 End Plate PN58  Jumper, 10pos
Digi-Key L-Com \ | ] |
H7PXH-0906G-ND SDF1 Digi-Key Digi-Key
277-1495-ND 277-1494-ND
Slots
| | | | | | | | | ‘ES #2 3/8" pan‘ ‘E15 #2 washer |
PN3 PN9 PN13 PN21 PN23 PN28 PN33 PN39 PN44 E6 #2 3/8" pan E16 #2 washer
Adapter panel Adapter panel Adapter panel Adapter panel Adapter panel Adapter panel Adapter panel Adapter panel Adapter panel \ | \ |
LIGO LIGO LIGO LIGO LIGO LIGO LIGO LIGO LIGO E7 #2 3/8" pan E17 #2 washer
D1100665-v1 D1100662-v1 D1101829-v1 D0902557-v1 D0902557-v1 D0902557-v1 D0902557-v1 D1100793-v2 D1100661-v1 \ | |
| | | | | ‘PN4O M12 socke‘t | ‘E8 #2 3/8" pan‘ ‘E18 #2 washer |
PN4 PN10 PN14 PN41 M12 socket PN45 McMaster-Carr E19 #2 washer
Modular coupler DB37M adapter Modular coupler Serial adapter 90272A079
i LIGO i PN42  M12 socket LIGO E9 #2 washer E20 #2 washer
PN5 D0902569-v1 PN15 D1100638-v1 \ | |
Fiber LC-LC coupler Fiber LC-LC coupler PN43 M12 socket E10 #2 washer McMaster-Carr
L-Com E1l #6-32 1/4" flat L-Com E3 #6-32 1/4" flat 90126A501
FOA-801 FOA-801 Newark E11 #2 nut E21  #2 lock washer
\ | E2  #6-32 1/4" flat \ | 08R3678 E4  #6-32 1/4" flat \ | |
PN6 PN16 E12 #2 nut E22  #2 lock washer
Fiber LC-LC coupler McMaster-Carr Fiber LC-LC coupler McMaster-Carr \ | \ |
L-Com 91099A205 L-Com 91099A205 E13 #2 nut E23  #2 lock washer
FOA-801 FOA-801 \ | \ |
. ‘El4 #2 nu‘t ‘E24 #2 lock washe‘r
Fiber/Ext Safety Safety Blank Temperature Serial —_—— N
- Contacts Network Sensors Concentrator ~ * sponsee
Fiber/Ext.: M12 Color PT100 External Senso Tiile
SM Fiber from corner 1 brown RL+ for example EtherCAT H1 Remote Access End
SM Fiber corner ext. 2 white R+ Newark 35M2405 eI NI RETET
CAT5 corner ext. 3 blue RL & 15M4877 8 D1101831 1
4 black R-
Date: 9/21/2011 [ Sheet 1 of 4
File: C:\Users\..\EtherCAT4kmH1End1.SchDo¢ Drawn By:Daniel Sigg
1 2 3 4 5 ‘ 6




S
g
=
~ =
a <
= o
o =
= S £
2 =t w
o
2 g 5 -1
8 < = S
= £ 5]
2 5 E &
: E < 3
g g E
= 2 = =
Eps 85 §: &
o o o — O
= N 1L o 19 X 75}
o Wi NS Ond o« m
[ Emiiand - Lol 1
.]I 07.08 0708
s 1= | ==}
o == o
[~ - - i
& Wl O
N EN .
1.?1 .._ i\uiﬁmod-:
i O b
' T
!| 1 b
i" o0 00 B
L L y
o0 o =
o - -
e | R .
Sz %" WE WE
SCea 06 00
| - EL6OBO EL3102 |
BECKHDFF  BECKHOFF EK1521
—_F_' e b : L]
0 1 2 3 4

Ebus 24\
Power contacts 24\

End End
EtherCAT Temp.

Power budget:

End cap

EL9011

EL6080: 0.130 A
EK1521: 0.400 A
EL3202: 0.190 A
EK1110: 0.125 A
0.845 A Title .
Remote Access End: Left Rail
Size Number Revision
B D1101831 1
Date: 9/21/2011 [ Sheet 2 of 4
File: C:\Users\..\EtherCAT4kmH1End2.SchDo¢ Drawn By:Daniel Sigg
1 2

6




i L OLLLAY
UoIsuIXe LyosupE Hoppoeg | oot _ 440H%I38 r

"2 s a ek

n____-_wi_,.o_m,_ab _u_-_.eﬁ-__eﬁ
[eUIWLIS) INdINO [eNBIP [aUUBYI-p 4VSUIML L.-.. MMM““M HM“AW 7““ _u
06 - . -

oz ISR B Hacd

-t t1 : J

feutwusy Indui enBip [suueyd-y J4YSUIML  wpe™ T T T . e =
wors I ENoEN© Eii© f_-_.omw_r

e EiEnoEne FHo FEHoZE
R t t -

FE R
mo. oo saonvazg, |

5
&

RUN
LINK/ACT

J13q1y apows|Buis ‘yaums g| /m 1a1dnod ] DIyl Joyxdag
0T00-TOSTM3
9d

LINK/ACT 21
© LINK/ACT 52

1

Revision

[ Sheet 3of 4

C:\Users\..\EtherCAT4kmH1End3.SchDo¢ Drawn By:Daniel Sigg

“™ D1101831

9/21/2011

"™ Remote Access End: Middle Rail

Size
B

Date:

File:

0.546 A

EK1110: 0.125 A

Power budget:
EL1904: 0.200 A
EL2904: 0.221 A

24V
24V

Safety Network

Power contacts

Ebus




Beckhoff EtherCAT coupler w/ ID switch, singlemode fiber

1)
@
3
%)
a4
123
o S
= ] N
c N <~
= [%2) (%]
E o o
£
i 3 3
5] & (<]
o> T =
S ]
3 = E E
= s £ £
S = =
S) — = =
= o< NI INE
Q o O o8 1N
e} o= s 2 o2
S —© 2L N ©© ™M ©©
X I = 13 13
" I |
Efee AT .
LNKACT 5] Xo oo
y -
LINN/ACT 52 R -, @ tmiim -

|BECKHOFF @@

| EX1501

Ebus 24\
Power contacts 24\

Corner End RS232
EtherCAT EtherCAT RS422

Power budget:

Beckhoff EtherCAT extension

B14
EK1110

® 1| g E|
n[jlllim:
| EthercaT= |

®
&

~ | SR

BECKHOFF
EKI1110

|

oo

Remote corner
extension

EL6692: 0.120 A
EL6002: 0.170 A
EL6022: 0.350 A
EK1110: 0.125 A
0.595 A Title . .
Remote Access End: Right Rail
Size Number Revision
B D1101831 1
Date: 9/21/2011 | Sheet 4 of 4
File: C:\Users\..\EtherCAT4kmH1End4.SchDo¢ Drawn By:Daniel Sigg
1 2 3 6




